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	Practice
Use Base 10 jottings to answer these calculations:

100 - 85 = 15
85 + 15 = 100

100 - 74 = 26
74 + 26 = 100

100 - 63 = 37
63 + 37 = 100

100 - 52 = 48
52 + 48 = 100

100 - 21 = 79
21 + 79 = 100

 
	Practice
Use Base 10 jottings to answer these calculations:

100 - 16 = 84
16 + 84 = 100

100 - 32 = 68
68 + 32 = 100

100 - 17 = 83
83 + 17 = 100

100 - 32 - 7 = 61
32 + 61 + 7 = 100

100 - 23 - 15 = 62
23 + 62 + 15 = 100




	Reasoning
Explain your answers. 
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5a. Various answers, for example: 17 + 83;
87 +13
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4b. Ahmed is incorrect because 64 + 45 i
not a bond to 100. He needs three tens
and six ones o make a bond to 100.
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4a. Alice is correct because 45 + 55 = 100.
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5b. Various answers, for example: 41 + 59;
51 + 49
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